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1) ROORLOTID, (2R X108

1) 0O—129=241 2) 762+0=813
3) 0Ox2=6 4) 40-+-0O=8
5) 0O+532=609 6) 32—0O=8
7) 9x0O=9 8) 0O+7=4

9) 0O+830=912 10) 3x0O=24
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2) ROOFLKDTEH, (2RX108)

1) 0O+4911=1025 2)  800—0O=136
3) Ox6=24 4) 15+0=5
5) O—567=538 6) 19+0=201
7)  O+1=7 8) 1x0O=1

9) O—630=478 10) 36+0O0=4
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3) ROOFKNKOTI D, (2R X 108)

1) O0—58=19 2) 342+0O=701
3) O0-+5=3 4) 9x0O=90

5) O0+428=607 6) 93—0O=15
7) Ox4=8 8) 30+0O=10

9) 0O+6=6 10) 22—0O=18
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4) ROOFNKITEH, (2R X10%E)

1) O—126=411 2) 71+0=105
3) Ox3=18 4) 45+0=5
5)  O+593=700 6) 38—0O=13
7) O+5=5 8) 2x0O=10

9) Ox5=30 10)  251+0O=801
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5) ZOORFWKDOTI M, (2R X10%E)

1)
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7

9)

0—670=313

O0+6=3

O0+16=42

Ox7=63

73—0O=37
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2) 875+0O=912

4) 1x0O=8

6) 68—0O=49

8) 42+-0=7

100 0O+9=3
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1) ARE—m@E (2K X10%)

1) 370 2) 51
6) 24 7 1

2) KiE—MRE (2R x10%#)

1) 114 2) 664
6) 182 7 7

3) Kig—EE (2R x108)

1) 77 2) 359
6) 78 7 2

4) KE—RE (2Rx10%#)

1) 537 2) 34
6) 25 D 25

5) &E—ME (2R X108

1) 983 2 37
6) 19 7 9
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